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REERX S ABEX S
T ﬁﬁiﬁ S FRTREISHT ZBRERENODEIT Ffiia%;f% o
R FpARER | THXE | FALE (BXTHE- | =EHE0
Lt | OFEFEE EE | ERERA (BT

NEEE 7 7 4 2 1 0 0 0
AR 3 3 - 0 2 0 0 0 1
RERERE 0 - - - - - - - -
BEFEREER YT —Uit S HEHEEIRAL 0 - - - - - - - -
YRR NEW R ERT 0 - - - - - - - -
B A B S HEE AR B 5 5 - 5 0 0 0 0 0
BT EARLE 0 - - - - - - - -
3 o4 Al X S HE AN 0 - - - - - - - -
HH B P BB AN D 0 - - - - - - - -
AER 0 - - - - - - - -
HERF 4 0 4 4 0 0 0 0 0
=120 2 2 - 1 0 0 0 0
ERARZESR 0 - - - - - - - -
28T 13 13 0 12 0 1 0 0 0
Rh T 12 12 - 70 27 2 3 0 16
[h & e E% T 1 1 0 1 0 0 0 0 0
SRUT 11 11 - 3 2 6 0 0 0
Wwix4 18 14 4 12 5 0 0 0 1
NERGIRER 8 0 8 0 7 0 0 0
NEZREZER 0 - - - - - - - -
BB T 19 1 18 10 2 5 0 0 3
SEBAT 0 - - - - - - - -
] 66 12 54 30 10 26 0 0 2
AEAREEZER 3 - 2 1 0 0 0 0
NEEBERER N N - - - - - -
NRFET 0 5 0 0 0 0 0
RET 30 6 24 14 10 5 0 0 1
CAS ] 44 44 - 37 0 1 0 2
854 17 6 11 9 3 2 0 1 4
E T 82 3 79 46 21 13 0 0 2
XEpFFEA 20 20 0 16 2 0 0 2
XAEF 2 2 0 2 0 0 0 0
EiLKFE 27 27 0 23 3 0 0 0 1
EEFEE 276 66 210 83 21 36 0 135 1
PRFEBEER 0 - - - - - - - -
HRRIRIT 20 5 15 3 1 16 0 0 0
BWKES 7 3 1 6 0 0 0 0
BIEIT 0 - - - - - - - -
REFFT 31 5 26 26 2 2 0 0 2
KEFF 1 1 0 1 0 0 0 0 0
BEEXE 4 2 2 3 2 0 0 1 0
BRIAILE—FT 6 2 4 3 1 0 1 1 0
YSEFT 15 15 - 2 11 0 0 0 2
RN ET 1 1 - 0 0 0 0 0 1
E+REE 34 13 21 20 15 0 0 0 1
MEFBEER 0 - - - - - - - -
KRIT 0 - - - - - - - -
BERRT 12 5 7 11 2 1 0 0 0
BB 0 - - - - - - - -
RIEH 1 1 - 1 0 0 0 0
KiteER 7 - 7 0 0 0 0 0
& &t 914 409 505 467 155 125 5 138 42
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